Unit 5 - Lesson 3 - Notes David Curlette

I, Cotrvett the following angle to radians in 4. Cotrvett the following angle to degrees.
exact forim (2se 71 powr answer). T _
— radians = (
330° = [ ]

3. List the gquadrant each angle iz in,
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Write an equation of the specified function with each
amplitude, period, phase shift, and vertical shift.

5. sine function: amplitude = 15, period = 47, phase shift = % vertical shift = —10
6. cosine function: amplitude = % period = —’3‘1 phase shift = ——_’3‘_—, vertical shift =5
7. sine function: amplitude = 6, period = 7, phase shift = 0, vertical shift = —%

Write an equation for the tangent function where:

period: = phase shuft: veitical shift of 4

25

3
Write an equation for the cosecant function where:

period: 7  phase slaft: 27
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6. cosine function: amplitude = %, period = —"} phase shift = —

w

w

*
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—_?;;, vertical shift = 5

Amplitude Trig Function Omega, w Xorg o} Vertical Shift
Y=
(Distance from sin or cos 2 (VARIABLE) O= -(PS){w) (MIDLINE)
Midline) - Pd
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GCcosineﬁmction: amplitude period hase shift
S [

Amplitude Trig Function Omega, w Xorg o} \/ertical Shift
Y= Z.. 2, CoS L,) (=) 2T 1 \ -+ 5
(Distance from sin or mzz_ﬂ' }VARIABLE} O= -(PS){w) d /{MIDLINE}

Midline) Pd
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—
G.Gosine)function: amplitude = % period @hase shift ——2——_‘;’5,)\'ertica] shift’=__5
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Amplitude Trig Function Omega, w Xorg 0] Vertical Shift
2
v /2 lcos & © |+27 |+ 5
(Distance from sin or cos 2 (VARIABLE) O=-(PS){w) (MIDLINE)
Midline) - _E /-
w2 o))
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5. sine function: amplitude = 15, period = 47, phase shift =

David Curlette

T vertical shift = —10

2 ?
Amplitude Trig Function Omega, w Xorg @ Vertical Shift
(Distance from sin or cos 2w (VARIABLE) @= -(PS){w) (MIDLINE)
Midline} - Pd
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5. sine function: anll)]it"“]e/:lé’ period = 47, phase shift l‘tical shift =@

Amplitude Trig Function Omega, w Xorg Vertical Shift
' 17
- | /D s 2. | & 4 | —10
(Distance from sin or cos 2w (VARIABLE) @= -(PS){w) (MIDLINE)
Midline} " Pd
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5. unctlonz mplitude = 15 )period € 47 _bhase shift -'ert-lcal sh1ﬁ1=/—m

Amplitude Trig Function Omega, w Xoro 0} Vertical Shift
. ) - T
-l B a2 | ©® |Tg |-lo
(Distance from C; r cos _2m (VARIABLE) @=-(PS}{w) (MIDLINE)
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Ex. 1

Kiki and Mikey are riding on a ferris wheel at a local
carnival. The circular ferris wheel has a radius of 50 feet
and is located 60 feet from the ground level. The ferris
wheel makes a full rotation every 20 minutes. As a function
relating the height of Kiki and Mikey on the ferris wheel to
the time they ride (in minutes), find the following:

a) the amplitude of the seat.

b) the period of the seat.

c) the equilibrium of the ride.

d) an equation modeling the data presented.

w

Amplitude Trig Function Omega, w Xor© 0] Vertical Shift

(Distance from sin or cos 2w (VARIABLE) @=-(PS){w) (MIDLINE)
Midline) “Pd

A1
N




Unit 5 - Lesson 3 - Notes

Alg Il CC

David Curlette

Ex. 1
Kiki and Mikey are riding on a ferris wheel at a local
carnival. The circular ferris wheel has a radius of 50 feet
and is located 60 feet from the ground level. The ferris
wheel makes a full rotation every 20 minutes. As a function
relating the height of Kiki and Mikey on the ferris wheel to
the time they ride (in minutes), find the followmg

a) the amplitude of the seat. 20

b) the period of the seat. 20 m'~ ;
c) the equilibrium of the ride. '
d) an equation modeling the data pr'esen'red
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Amplitude Trig Function Omega, w Xor© Vertical Shift
—n
Y= S (o) = oS 1o @ Lo
(Distance from sin or cos 2 (VARIABLE) = ) (MIDLINE)
Midline) ““ 57
Pd - wt\/\;/\
Ib\) . 2 1‘ . T‘
L4 I e e
20 10

L(')“- -SOCo3<’% 6>

10



Unit 5 - Lesson 3 - Notes

Alg Il CC

Ex. 1

Kiki and Mikey are riding on a ferris wheel at a local
carnival. The circular ferris wheel has a radius of 50 feet
and is located 60 feet from the ground level. The ferris
wheel makes a full rotation every 20 minutes. As a function
relating the height of Kiki and Mikey on the ferris wheel to
the time they ride (in minutes), find the following:

a) the amplitude of the seat. ‘50

b) the period of the seatodO M

c) the equilibrium of the ride. m\dl\ e LO F

d) an equation modeling the data presented.
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Amplitude Trig Function Omega, w Xor& — Vertical Shift
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Example 2:
An evil litterer tosses a half-full (or half-empty) bottle of
water intfo the sea. As the water moves the bottle bobs up
and down. The distance between its highest and lowest
point is 5 cm. It moves from the highest to the lowest
point in 3 seconds and then back to the highest point 3
seconds later and so on.
Write a cos function that models the movement of the
littered bottle in relationship to the equilibrium point.

w
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Amplitude

Trig Function

Omega, w

Xor©

Vertical Shift

(Distance from
Midline)

sin or cos

(VARIABLE)

®=-(PS){w)

(MIDLINE)
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Example 2:

An evil litterer tosses a half-full (or half-empty) bottle of
water into the sea. As the water moves the bottle bobs up
and down. The distance between its mghest and lowest
point is 5 cm. It moves from the highest to the lowest

point in 3 seconds and then back to the highest point 3

seconds later and so on.
Whrite afunc'rion that models the movement of the
littered boﬁle in relationship to the equilibrium point.
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Example 3: HW: p. 391 (7-12)

Write a sine function which models the oscillation of tides in
KEY WEST, Florida if the equilibrium point is 7.8 feet, the
amplitude is 5.5 feet, the phase shift is -2.0 hours, and the
period is 12.4 hours. According to your model, find the
average position of the tides after 7 hours.
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